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Guess Paper – 2012
Class – X
 Subject – Mathematics

Time:3 hours







                        Max.Marks:80

General Instructions:

(i) All Question are compulsory.

(ii) The question paper consist of 34 questions divided into 4-sections—A,B,C and D .section A comprises of 10 questions of 01 mark each, Section B comprises of 08 questions of 02 marks each . Section C comprises of  10 questions of 03 marks each and  Section D comprises of 06 questions of 04 marks each .

(iii) There is no overall choice. However , an internal choice have been provided in one question of 02 marks each, three questions of 03 marks each and two questions of 04 marks each. You have to attempt only one of the alternatives in all such questions.

(iv) [image: image48.png]Use of calculators is not permitted. However you may ask for mathematical tables.

Section -A

Select the correct alternative from the alternatives given against each of the following questions(1-10):
1. Which of the following is not an A.P. ?
(a)     4,[image: image2.png]


 ,3,  [image: image4.png]


  ,…….. ...                           (b)   -1,-1,-1,………………………..   
 (c)     -3,3,-3,3………                                 (d)  [image: image6.png]V2,V/18



, [image: image8.png]


……………..  

2.  A card is drawn from a pack of 52 playing cards, then probability of getting ‘ a heart’ or ‘7’ is
                (a)  [image: image10.png]


                               (b) [image: image12.png]52



                        (c) [image: image14.png]


               (d) [image: image16.png]



3. In the adjoining figure, if O is the centre of a circle, PQ is a chord,                           P                   R                           
 and the tangent PR at P makes an angle of 50o with PQ, then[image: image18.png]£POQ



                                     50o
  is equal to:






                                        
                                                                 
(a)                 90o               (b) 100o      (c) 75o              (d)  80o


             Q
4. If the perimeter of a circle  is equal to that of a square , then the ratio of their areas is 
(a)  22:7       (b)  7:22     (c)    14:11                         (d)       11:14

5. If the equation X2 – bX +1=0 does not possess real roots, then 

(a)   -3<b<3        (b)  -2<b<2             (c)  2<b       (d) b<-2

6.The midpoint of the line segment AB is the point (4,0) . If the coordinates
Of point A are (3,-2),. Then coordinates of the point B are:

(a) (5,2)        (b) (11,-2)    (c) (9,2)              (d)  (9,-2)                      A
7.  In the  adjoining fig. [image: image20.png]A ABD



  is an equilateral [image: image22.png]


 with                      
        AC [image: image24.png]


  BD  ,   AB= 6cm , then AC is:  
(a) 3[image: image26.png]


 cm     (b) 6[image: image28.png]


 cm           (c) 12[image: image30.png]


 cm         (d) 2[image: image32.png]


 cm             B         C        D                                        

8. A solid sphere of the radius 6cm is melted and recast into spherical balls of 2cm radius.
Find the number of the balls made.

(a) 3                   (b) 108                       (c) 216                         (d) 27
9. The slant height  of the frustum of cone is 5cm .If the difference between the radii of its circular ends is 4cm , then  height of the frustum is :

     a) 3.5cm       
b)  1cm

c) 3 cm              d) 2cm         A                     B
10.In the given fig. AEC is a semicircular arc, AB=CD= 7cm, 
       BP [image: image34.png]


PD and  BP=4cm, PD . find the perimeter of ABPDCEA       E●
















                                                                                                   C                           D  
(a)  21.7cm            (b)  37.6cm                    (c) 36.7cm                           (d) 28cm                                                                                                                          
Section B
11 Find a point on X-axis which is equidistant from the points A(2, 5)  and B (-2, 3)

12 Find the sum of two digits numbers divisible by 4
13 Solve the quadratic equation in x  :  6a2 X2 – 7abX-3b2 = 0 , (a≠0)
14 A glass cylinder with diameter 20cm has water to a height of 9cm. A metal cube of 8cm edge is immersed in it completely. Calculate the height by which water will rise in the cylinder.

Or

A solid is hemispherical at the bottom and conical above it. If the surface area of the two parts are equal, find the ratio of its radius and the height of the conical part.
15. One card is drawn from a well shuffled deck of 52 playing cards. Find the probability of getting 

   (i) a non face card                              (ii) a black king or a red queen

 16. Find the area of the quadrilateral formed by the points A(1,2), B(4,0) , C(5,2) and D(3,5)
17. In what ratio does the point on x-axis divide the join of points A (-6, 10) and  B(3,-8 )

18 A solid hemispherical at the bottom and conical above it. whose total height is 17cm and radii of both are 3cm each. Find the volume of solid.
                                                                 Section C
  19. If -5 is the root of the quad.eqn.  2x2+2px-15=0 and the quad.eqn   p(x2+x)+c=o has equal roots ,find c.
OR

If a student had walked 1km/h faster he would have taken 15 minute less to walk 3km. find the rate at which he was walking.
20.The sum of first six terms of an A.P is 42 . The ratio of its 10th term & 30th is 1:3. Calculate the first  & 13th term of the A.P.

21.From the top of a 100m high building the angles of the  depression of the top and bottom of the tower are observed to be 45o and 60o. Calculate the height of the tower.
22. Construct a [image: image36.png]


 ABC  with sides CA=6cm,AB=5cm [image: image38.png]


 ABC= 45o , then construct a triangle similar to ABC whose sides are 6/5 times the corresponding sides of triangle ABC .
                                                                                                                A                         B
23. Prove that the intercept of a tangent                                                
   between two parallel tangents to a circle 
(as shown in fig.)subtends a right angle at                                                            P
the centre of the circle.                                                                             C       D
24. Which term of an AP 3,15,27,39……………will be 120 more than its 21st term.
25. find the area of the shaded and unshaded area in the given fig.              A
AD[image: image40.png]


BC, AD=BC=14cm and o is the centre of circle.








              B                                          C






















           D

26. A pair of dice is rolled once. Find the probability of getting a sum of 10 on both dice.

27. The line segment joining the points P(2,1) and Q(5,-8) is divided by the points A  such that [image: image42.png]


  .  If A lies on the line given by 2x+y+k=0 , find the value of k.
28. A toy is in the form of hemisphere surmounted by a right circular cone of same radius as that of hemisphere .If the radius of the cone is 21cm and its volume is [image: image44.png]


  of the volume of the hemisphere, calculate the height of the cone and surface area of the toy. 

Section- D

29. In the given fig. ABC is a quadrant                                   A

of a circle Of radius 14 cm. With AC                
                                     

 as a diameter  a semicircle Is drawn.                                                                                                                                      

 find the area of the shaded region.


B                        C




         

          OR                                                                                                                                    

 The area of an equilateral triangle is 49√3 cm2.                                                    

 Taking each vertex as centre , circles are drawn 

with radius equal to half of the side of triangle .
Find the area not included in the circles.      

30.Rs.6500 is divided equally among a certain number of persons. Had there been 15 more persons, each would have got Rs.30 less .find the no. of persons.
         OR
Two water taps together can fill the tank in 75/8 hrs. The tap of larger diameter takes      10 hrs less than the smaller one to fill the tank separately. Find the time in which each tap can separately fill the tank.








31. From the top of a tower 60 meters high , the angles of depression of the top and bottom of a pole are observed to be [image: image45.png]45



and [image: image46.png]


respectively. Find the height of the pole if the Pole and tower stand on the same plane.
32.From a solid cylinder of height 8cm and radius 6cm, a conical cavity of same height & radius as that of cylinder is hollowed out. Find the volume and total surface area of the remaining solid.
33. Prove that the lengths of two tangents drawn from an external point to a circle are equal.

  Use the above theorem to prove the following:                                             A

  A circle is touching the side BC of  ∆ ABC at P

   and touching AB and AC produced at Q and R                                   B        P         C
   respectively.                                                                                    Q                         R

Prove that: AQ = 
[image: image47.wmf]1

2

(Perimeter of ∆ ABC)                        
34. Solve for x : 9x2 – 9(a+b)x + (2a2+5ab+2b2) = 0 
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